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SECTION A (@ )

(a) Cost Accounting is a tool of managerial planning and control. Explain.

(6)
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5497 2

(b) From the following particulars, prepare Stores Ledger Account by using
Last-in-First-Out (LIFO) method :

April 1 Stock in hand 500 units at Rs. 20 per unit
April 2 Issued 200 units

April 3~ Purchased 150 units at Rs. 22 per unit
April 4 Issued 100 units

April 5 Purchased 200 units at Rs. 25 per unit
April 6  Issued 300 units

April 6  Returned to store 10 units (Issued on 4™ April)
April 7 Issued 100 units

April 8  Issued 50 units

On 10™ April, a shortage of 10 units was noticed. (9)
OR

(a) Distinguish between controllable cost and non-controllable cost, giving suitable
examples. (6)

(b) Following is the Trading and Profit and Loss Account of M/s. Naveen
Electronics for the year ended 31 March, 2012 :

Particulars (Rs.) | Particulars (Rs.)
To Materials Consumed 12,000 | By Sales (350 units) 70,000 |
To Direct Wages 4,000 | By Finished Stock (50 units)| 3,500
To Works Expenses 12,000 | By Interest received 1,500

To Administrative Expenses 12,000
To Goodwill written off 4,000
To Discount on Debentures
written off 3,000

To Net Profit 28,000
75,000 75,000
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The company’s cost records show that :
(i) Works overheads have been recovered at 100% on prime cost.

(i) Administrative overheads have been recovered at 25% of factory cost.

Prepare :
(i) A statement of cost indicating costing profit; and

(ii) A statement reconciling the profit as disclosed by cost accounts and
that shown in financial accounts. 9)
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2. (a) You are given the following data :

Fixed Cost Rs. 2,000
Profit Rs. 2,000
Sales Rs. 10,000

Variable cost is 60% of sales.
Required (i) Break even sales in rupees

(i) What should be the sales volume in rupees to earn a profit of
Rs. 6,000

(ii) Margin of safety when sales are Rs. 25,000. (6)
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(b) From the following data, compute machine hour rate :

(a)

(b)

Cost of machine : Rs. 44,000

Scrap value : Rs. 4,000

Rent for the workshop : Rs. 25,000 per annum

General lighting for the workshop : Rs. 160 per month

Power Consumption 20 units per hour @ Rs. 20 for every 100 units
Administrative Expenses allocated to the machine : Rs. 4,000 per annum
Repairs and Maintenance : 75% of depreciation

Workshop superv‘isor’s salary : Rs. 3,000/- per month

Estimated working time per year : 50 weeks of 40 hours each

Setting up time which is regarded as productive time 200 hours per year
Effective life of the machine : 10 years

The machine occupies 1/4" area of the workshop. The supervisor is expected
to devote 1/3™ of his time in supervising the machine. 9)

OR

In a manufacturing company, a material is used as follows :

Re-order quantity : 3,600 units
Maximum Consumption : 900 units per week
Minimum Consumption : 300 units per week
Normal Consumption : 600 units per week
Re-order period : 3 to 5 weeks

Calculate : (a) Re-order level; (b) Minimum stock level; (c) Maximum stock
level. (6)

The following expenses were incurred annually in respect of a factory having

4 machines of similar nature :

PL.O.
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Rs.
(1) Lighting for the Factory 80,000
(ii) Supervision 90,000
(iii) Repairs 2,40,000
(iv) Rent and Rates 4,00,000
(v) Attendants : One person looking after four
machines paid @ Rs. 6,000 per month each
(vi) Interest paid on loan 2,00,000
(vii) Power consumed for the shop at Rs. 5 per unit 9,60,000
(viii) Depreciation per machine 30,000
(ix) Sﬁndry supplies for factory 24,000
(x) Each machine consumes 20 units of power in an hour |
Calculate Machine Hour Rate. | 9)
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M
.
() ®t & forg el 80,000
(ii) wFET 90,000
(iii) FT 2,40,000
(iv) frmar ik & 4,00,000
(v) IR v @fdd & o IR WA 8 @ W@ 2
6000 % wfy #E =t W A Rar war 2
(vi) ®W W =W fRar 2,00,000
(vii) FEwEn & fow fawelt & @w, 5 © Wl ghe 9.60,000
(vii)) T W T W 30,000
(ix) v & fov fafea wwraf 24,000
(x) ¥ WA @ @ud 20 ge uf wer 2
A el T F IR DY |
SECTION B (@ @)
3. (a) What are the advantéges and limitations of budgetary control ? (6)

(b) The Indian Construction Co. Ltd. has undertaken the construction of a
bridge over the River Yamuna for a Corporation. The value of the contract
is Rs. 15,00,000 subject to retention of 20% until one year after certified
completion of the contract, and final approval of the Corporation’s
engineer. The following are the details as shown in the books on 30" June,

2013.
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Rs. Rs.
Labour on site 405,000 Materials on hand on June 30", 2013 6,300
Materials sent to site 420,000 Wages accrued on June 30%, 2013 7.800
Materials issued from stores 81,200 Direct expenses accrued on
Hire and use of Plant 12,100 June 30*, 2013 1,600
Direct Expenses 23,000 Work not yet certified 16,500
General overheads allocated Amount certified by the Corporation’s
to the contract 37,100  engineer 11,00,000
Cash received on account 8,80,000
Prepare : (a) Contract Account, (b) Contractee’s Account, and (c) Show
how relevant items would appear in the balance Sheet. )]
OR
(a) ABC company provided the following information for the year ending 31*
December, 2013. This is about a road making contract which was commenced
on 1% April, 2013.
Rs.
Materials 5,95,000
Wages - 6,87,000
Sundries 41,000
Plant dispatched to site 1,00,000
Wages accrued 17,000
Materials in hand 24,000
The value of work certified was Rs. 14,40,000 of which Rs. 10,80,000 has
been received. Uncertified work was valued at Rs. 40,000. The Plant on site
on 31* December, 2013 was valued at Rs. 80,000. The contract price was
Rs. 24,00,000. Prepare a Contract Account, showing clearly the amount of
notional profit to be transferred to the Profit & Loss account. (6)
(b) A Transport Company, is running a fleet of six buses between two towns

75 km apart. Seating capacity of each bus is 40 passengers. The following
particulars are available for the month of June, 2012.

L.1.0.
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Rs. Rs.

Wages of drivers, conductors Taxation, insurance,
and cleaners 3,600 etc. 2,400
Salaries of office and other staff 1,500 Depreciation 3,900
Diesel and Other Oils 10,320 Interest on capital 3,000
Repairs and Maintenance 1,200

Actual passengers carried were 80 per cent of the seating capacity. All the
buses ran on all days of the month. Each bus made one round trip per day.

Find out the cost per passenger-kilometre. (9)
() siéta Faamr & @ 3k 9 == & 7
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(b)

(a)

(b)

12

Distinguish between job costing and process costing. (6)

The Budget Manager of Alankar Cosmetics Limited, is preparing a budget
for the accounting year starting from 1** July, 2012.

As part of the budget operations, some items of factory overhead costs have
been estimated by him under specified conditions of volume as follows :

Output (in units) 1,20,000 1.50.000
Rs. Rs.

Expenses:

Indirect Materials 2.64,000 3,30,000
Indirect Labour 1,50,000 1,87,500
Maintenance .84,000 1,02,000
Supervision 1,98.000 2,34,000
Engineering Services 94,000 94,000

Calculate the cost of factory overhead items given above at 1,40,000 units
of production. Make total cost column as well as per unit column. (9)

OR

State the causes of difference between the profit shown by cost accounts
and profit shown by financial accounts. (6)

A product passes through two distinct processes A and B and then to finished
stock. From the following information you are required to prepare process

Accounts.

Process A Process B
Material Consumed (Rs.) 12,000 6,000
Direct Labour (Rs.) 14,000 8,000
Manufacturing Expenses (Rs.) 4,000 4,000
Input in process A (Units) 10,000
Input in Process A (Rs.) 10,000
Output (Units) 9,400 8,300
Normal wastage (percentage of input) | 5% 10%
Value of normal wastage (per 100 units) Rs. 8 Rs. 10

No opening or closing stock is held in processes. 9)
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(a)

(b)

(a)

(b)

14
SECTION C (@s 1)

What are the various costs involved in labour turnover ? (6)

From the following data calculate (i) P.V. Ratio, (ii) Profit when sales are
Rs. 20,000 (iii) New Break-even Point, if selling price is reduced by 20%.;

Fixed Expenses Rs. 4,000
Break Even Point Rs. 10,000 | (9)
OR

Given the following data :

Direct Material Rs. 4 per unit

Direct Labour Rs. 3 per unit
Variable overheads 100% of direct labour
Selling Price Rs. 20 per unit

Fixed overheads Rs. 50,000

Calculate :

(1) Break-even point in units

(i) What should be the selling price per unit if the break-even point is to
be brought down to 4,000 units ?

(i) How many units must be sold to earn a profit of Rs. 10,000 ?

(6)
Following information relates to the manufacturing of a product.

Fixed Expenses Rs. 4,00,000
Material Rs. 10 per unit

Labour Rs. 5 per unit
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Direct Expenses
Fuel Rs. 3 per unit
Carriage Inwards Rs. 2 per unit
Selling Price Rs. 40 per unit

Calculate break-even point in terms of units. Also find out new B.E.P. if
selling price is reduced by 10% per unit. 9)
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